Lesson D ¢ Standerd form of a Line

) STANDARD ForM

B eguation of a line 15 n Ftandard form & it locks

like *
ﬁrx,-!r&j-kc =0

¥ B, must be integers
* [Q is positive

7) Exam pies

| State § the equation 15 I standard form

a) ¥ 23+‘{=® b) 3 +y-10:0
No. Mist be O. . Must be integer

MRty L=0 d) Z'x- 4520
H:.g' be posifive  Y6S *9

9 Lirde 1n standard form.

A g=Z>t3 5) y=-2(+0)-3
2(yp)z 2+ R ye 25252
2y=x*b Yz =295
0= %=1y +6 -1 (0)=-1(-29) (4g)-1- (B

0= 2.’)4.-*%-#5



3. Wnte 2% t2y=8=0 in slope 9—|h+~e_r“c£pl‘ “orm

a) Xx-8=-%
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3) quqpl” uﬁlrg Iyr{'ercepi—s
Ex. Graph Zx -3y +6=0
- Find We=nteases O {ﬁ‘o‘)
2%-30)+ =0
Ix+6:0
2x = (o
w, = -3_.

Find y~int : set x=0
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